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KN-106

B.A. (Part-1IT) Examination, 2022
(New Course)
ECONOMICS
[ Paper : Second |
( Statistical Methods )
Time Allowed : Three Hours
Maximum Marks : 75
Minimum Passing Marks : 25

Note : Attempt all five questions. One question from each

unit is compulsory. All questions carry equal

marks.
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UNIT-1/5%E-1

Give definition of Statistics and discuss its functions

and limitations.
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Write short notes on any two of the following :
Frg & @ et & w it feorml R
(a)  Different methods of sampling

Frasi &t fafT fafter
(b)  Primary and Secondary Data

e o fadias @He
(c)  Statistical Survey

Hifeehia HeerT
(d)  Methods of Classification

ieeer i Ofert

UNIT-II / SHE-11

2. Find the mean from following frequency distribution

of marks obtained in Economics :

Marks Obtained [64[65[66[67]68]69]|70]71]72]73
No. of Students 116]110]22(21(17]14] 53 |1
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uT<iich 64165]166(67(68]169|70(71|72]73
BE H EEm | 1| 6]10[22]|21(17{14| 5|31
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Write short notes on any two of the following :
Frg & @ Rt & W dftra fewfml fofew -
(a)  Definition and importance of Probability.
e 1 a1d ud wew
(b)  Skewness and its measurement method
fereaT T SEe Joe fafy
(c)  Measures of Central Tendency
=g Hgfa & A9
(d)  Give definition of Mean and Median

ey AR AfzeR g i
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3. Find out mean deviation from median for the following

data:

Class Intervals [Frequency
0-10 4
10-20 6
20-30 8
30-40 10
40-50 7
50-60 6
60-70 5
70-80 3
80-90 1

o ofepet & fow mfemenr @ A1 foaee s HIfTT -

T A G|
0-10 4
10-20 6
20-30 8
30-40 10
40-50 7
50-60 6
60-70 5
70-80 3
80-90 1
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Find out standard deviation from the following

data :
Marks No. of Students
0-10 10
10-20 15
20-30 25
30-40 25
40-50 10
50-60 10
60-70 5

o= aifpet ¥ oY fame S ST ¢
3% BEl B G
0-10 10
10-20 15
20-30 25
30-40 25
40-50 10
50-60 10
60-70 5

UNIT-IV / SE-1V
4. Find Karl Pearson's correlation coefficient from the
following data :
Price (in Rs.) 22(24126128130132]134136(38]40

Demand (in tons) | 60| 58|58 |50|48[48|48]42]|36]|32
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7 (598 ¥) |22]24]26]28]30(32(34|36|38|40

>

A (a7 d) |60]58|58(50(48|48|48|42(36(32
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Find out the coefficient of correlation between x and
y by the method of Rank difference :

x [22]124]127[35]21[20]27|25[{27]23
y[30[{38]40]50|38|25]|38]36[{41|32

Hlfe AR Hl A S} x T y & < Geawy o
S I

x [22]124]127[35]21[20]27|25[{27]23
y[30[{38]40]50|38|25]|38]36[{41|32

UNIT-V /Z&E-V
5. Find out Fisher's Ideal Index number from the

following data :

Commodity A|B|C|[D
Base Year Price (per unit) 214115
Total Expenditure (in Rs.) 40(16]10]25
Current Year Price (per unit) 51812110
Total Expenditure (in Rs.) 75140( 24|60

Total Expenditure

Here Quantity = -
Price
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Calculate the five yearly moving average for the
following time-series. Show the Original point and

Trend value in Graph paper also :

Year Price
1 55
2 52
3 49
4 53
5 54
6 60
7 57
8 55
9 57
10 61
11 65
12 64
13 61
14 59
15 65
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1 55
2 52
3 49
4 53
5 54
6 60
7 57
8 55
9 57
10 61
11 65
12 64
13 61
14 59
15 65
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